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7K i ‘C — 26. 1 25.0

K v oA kO ZE o b & 9 mgl 0. 03LLF < 0.01 < 0.01
¥ 7 N t & M| mg/l 1T < 0.1 < 0.1
f % i it & #l mg/l 1UF <o.1 < 0.1
0 K [0} z » it & ol mg/l 0. 1UTF < 0.01 < 0.01
N fill 7 o IN 1t & ol mg/l 0. 5LUTF < 0.05 < 0.05
fitt ES K w * D ik & wl mg/1 0. 1UTF < 0.01 < 0.01
KE K T v F L KEZE OMAKEANS D ng/l 0. 005LTF < 0.0005 < 0. 0005
7o % L ok #H o & Bl me R A/ A = < 0.0005 < 0.0005
R Y ik e 7 = = ] mg/l 0. 003LF < 0.001 < 0.001
k ) 7 =4 = =  F v mg/l 0. 1UTF < 0.001 < 0.001
a k7 7 o wm o owm o ox F L omg/l 0. 1UTF < 0.001 < 0.001
v 7 = = A 5 o mg/l 0. 2UTF < 0.02 < 0.02
g i it I #l me/1 0. 02T < 0.002 < 0.002
1 2 - v 7 v ow o= % > gl 0. 048TF < 0.004 < 0.004
1 1 — Y 7 oo = F v ¥ mgl 1L F < 0.02 < 0.02
v =1 2 — Y 7 mu=xF L mgl 0. 40T < 0.04 < 0.04
1 1 1 — FY 27 v oo =& U mgl 3LLTF < 0. 001 < 0. 001
1 1 2 — YU 7 v ona = % | mgl 0. 06LTF < 0.006 < 0.006
1 3 — ¥ 7 v oo 7 oo 2 omgl 0. 02T < 0.002 < 0.002
¥ % 7 Al mg/1 0. 06LTF < 0.006 < 0.006
P < v > mg/l 0. 03T < 0.003 < 0.003
¥ + ~ N 7 V% 7| mg/1 0. 2T < 0.02 < 0.02
~ v + > mg/l 0. 1LTF < 0.01 < 0.01
t v v Kk O £ o 1 & W myl 0. 1LF < 0.01 < 0.01
1, 4 - v o+ % ¥ o wmgn 0. 5LTF < 0.05 < 0.05
7 Es J — g | me/l 5LLTF < 0.1 <01
kgl K [0} z D 1t & W mg/l 3T <01 < 0.1
m o os kv oz o M A& | mgl 2LLF 0.09 0. 05
g K O o b & B (B g% mg/1 10LLF <10 <10
v~ H RO EoOEY (B f#EE) mg/1 10LLF <0.5 <0.5
7 v A K O o A& # mngl 2LF <01 < 0.1
5 o #F Kk Wz o fb A& B me/l 8LITF <0.5 < 0.5
E 9 #H KOO T o & B myl 10LLF 0.13 0.13
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